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~ OPTION-A
Paper : ZOO-RE-6016.
( Aqudtic‘ Bio'logy )

1. Choose the correct optlon of the following
questions : o LxT7=T7

we fiRt e ow Rawcor Ak Bfeveat ¢
(i) Which term refers to a body of water
" where freshwater from rivers and

' streams meet-and m1xes with salt water
“from the-ocean ?

ﬁﬁﬁi@%@ﬁi{ﬁ @Wiﬂ‘ﬂ@ﬁ.
wqﬁaﬁfa{ﬁm«qﬁmﬁam
TS W

(@) Lake /T

() Estuary / GIml_

(¢) Pond / 43

(d).;- Wetland / W‘T

(i) Which zone of the ocean is the deepest
~and least - explored ?

AR mwaw%ﬁ@ammw
S [y -

(@) Intértidal zone/ wmmraﬁsmwm'
(b) Abyssal. zone/WﬂT%I qee
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(o ,~Neriti¢ ‘_zone/ﬁﬁﬁ?@%ﬁ
(d) Pelagic zone/ (otaif&® wiee.
(i) How is the amount of biode_grad:able' '
organic matter in se’wage' water
. estimated ?

| T T, A R znquza vm?ﬂa |
e mida #AfRw ot =
(@) Chemlcal oxygen demand .
| apTER SR DIEC
. (b) Biological oxygen demand
(c) Ph};sical 'oxj,'gen demand
(d) None of the ab,ove,'
e @Ble W
(iv) Which of . fhe folldWing is the major
' reason for algal bloom? - -
R @mﬁfmﬁmaﬁzfmmﬁ?
(@) Pressure of heavy metals
 oE g ToRfS
_ (b Soil e:o;ion
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(c) Equphiéaﬁon :
(d) Contamination of pathogens
' @Tﬂw 1*Z?f‘-‘i
(v) Which of the following layers of a

stratified lake typlcally has the warmest
temperature ? -

| @R@WWWWWWWW‘ ‘
BRGIEY o
(a) ‘Epilimniqnyﬁﬁ%ﬂﬁ?lﬂ ‘
(b)  Metalimnion /el g
(c) Hypolimnion /g fewAaw
© (d) Thermochne/ Qﬂt‘ﬁﬁsﬁ?

(vi) l?\/hlph of the following is an example of
a dissolved solid that can contribute to
- water pollution inlakes ? -

W@ﬂmﬁwv{m@@w@ﬁﬁmm
ﬁaa@q@wﬁmmﬁﬁmv o

(@) Oxygen /Wﬁl‘c@ﬂ »

(b) Carbon . dlomde/W Wﬁ@
(c) Phosphates /‘«FQC‘CFB

(d) Water vapour/S@&¥ oo
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_(vii) Which of the following is not considered
a dissolved gas in water? ~
T (PN ANIT TGO (51g 7= ?
(a) Oxygen/Si3em
(b) N1trogen/71’f€§CW .
(c) . Carbon dlomde/W W‘fi@
(d) Calcium carbonate / (PAHAN BILEO
2. Write short noteson : '~ 2x4=8
(a) - Eutrophication
(E) Coral reefs
BRI 2B
(c) Intertidal zor.xe'
| BERIR-SOR S
(d) Differerit stages of stréafn deyéi_opmént

ﬁwﬁmmﬁﬁmw

3. Answer any three questlons from the
followmg i 5x3=15

wee Tl ﬁmﬁﬁﬁrm@mm

(a) Explain various phys1co chem1ca1
characteristics of lakes.

-z R @%WWWWI
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(b) Dlscuss about sahmty and den31ty ofsea .
© water.
AT ﬁaaﬁwmwﬁmw
Bl ~ '
-(c) Define thermal stratlﬁcatlon in lakes and
describe the phys1ca1 processes involved
. in its formation. ‘

AR AN A
o REw a0

(d) Illustrate how agricultural Wastes can
- .cause water pollution. .
- RIS SR TS vnﬁ’fm R ZIAE -
e forai |
(e) Write about the ongms of- lake basins.
| T ORI Seorrea R

4. AWhat are the conservation efforts and
management strategies in presérving and

restoring.aquatic resources ? 10
GO AR RIH W 2l W@ 9 F9ll
TR mw ‘Pfﬁb‘l_olﬁ mﬁs? A
: .Or

Deﬁne estuanes and - dlscuss thelr unique ,
characteristics and ecological significance as
transitional ecosystem between freshwater
and marine environments. 2+8=10

| (R R v s e SART o Ao ARG

'ww\mwﬁwﬁ@w&smmmﬁvm .

"~sﬁamﬂﬁ@ﬁ@wmﬁ1w:
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5. - Explam nutrient cycle in lakes with special -

reference to sulphur and phosphorous 10
. TS QETTIN WIS TREnT $U Rewweie S R
| ﬁmwﬁm‘maﬁn <

Or

Dlscuss '(ianous causes of _water-polliation;
Analyze the importance of menitoring BOD
and COD levels m Wastewater treatment .
plants. . 6+4=10

ﬂﬁamﬁfﬁmwm‘mw | et AR
@g@ BOD W% CODI vfﬁmﬁﬁmmﬁ Ll
AT [ | |

'6. - Explain various p_rocesses involved in the
~ formation of lakes and clas%ify lakes based
“on their origin with examples. - 5+5=10
£l e Gt R[feq afrpmg 3 = o
ﬁw%&;qﬁaem%%asﬁ@mmm
m«ﬂﬁWW| | |
Or.

Explam the processes involved in the -
formation and' dlssolutlon of carbonate and
bicarbonate in water. Discuss the impact of
phosphate and nitrate on water quality and
aquatic ecosystems: - 5+3=10

WWWWWWWW
I | ANK B F TG ARHICI S

'» WWaﬁcﬁamz«ﬁTW|

,3(Sem-6/CBC'S)ZOORE1/é/G 7~ o | Contd. -



OPTION - B
~ Paper : ZOO-RE-6026
(Insects, Vectors and Diseases)’

-

1. Choose the correct option for the following
questmns D ' . 1IxX7=7

TS ﬁmmwﬁwwﬁ@ﬁi@m 3
() .Halteres are present in '
(a) ‘H.emibtera -
(b) . Diptera
(c) Qrthqptera
" (d) Odonata
AR ToifFe A
) e
(/) frobas
(0 WS
(‘ZI‘) Wf;nﬁ-ﬁ

(i) Which of the following is a mosquito-
. borne disease ? S
(@) Myiasis

(b) Leishmaniasis
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(iti)
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" (c) Encephalitis :

(d) Typhus fever -
OFR. (FINCOT (15l WER 7N FRFe 2 2

(%) wEafeR

() Frgufafe
(a0 «swmwﬁ%i

(@) i

Chagas disea_se is caused by

(a) Kissing bug

- (b) Black fly

(c) Body louse
(d) - Tsetse fly

| BlE @I TR TS 7Y

(=) o am
() o R
(1) ifeT el
@ B
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. (iv) - Mdhilifoﬁn Atype.bf antenna is found in
(@) Beetles '
_(b) Ants
(¢) Termites -

(d) Flies .
Ry (RE) $@eI qTBAI (AR I
(F) oI '
()
MO R
@ =R |
(v) Which of the followmg is not a
- characteristic of insects ?-

(a) Three pairs of legs
- (b) Two pairs of wings
(c) Three body segments : head,
. throax and abdomen '

(d) " Warm-blooded metabolism
SR (RO oo AfREy wRw

(v) Fofm o |
() AR @

() *ﬁ’ﬁaﬁﬁﬁtwm i, T, o
| .(‘zf). o < Rerita
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i) 'Which type 6f-m6uthparts‘dd'r.1éxosqu.itoé
have ? :
(a)' P1erc1ng and sucklng type
(b) " Siphoning type
(o) .Biftin'g and chevving type
. (d) Rasplng and suckmg type ,
R e RO R
(@) ReaReR mw
(?) . TR ok canzn«cﬁ
(1) TN A GRIE AT R
@ APk B SR CEART 4R, |
) (vii) -‘What is thc; . primary. modé of
© transmission of patybgeps by vectors
such as mosquitoeé and ticks ?

| (a) Restmg on mfected mdimduals

(b) -Ingestlon of contammated food or
water ‘ |

(o). . Inhalation of a1rbone partlcles
@) ,Through the bite of the vector
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2.

ﬂimmm @Tﬂwmmm

RIS R AR w7 e

) I e o ol @l

@) e 4 T A e =
:00) T ¥ I B
(R @RI PR QA

Answer the following q.uestions'.: 4 2x4=8

woT T enpTRR B o ¢
()~ What is the causative organism of

" ‘Leishmaniasis ?- Wr1te two control

- measures.

| 'Fmﬁmfiameﬂmﬁs? g ot e
- Rt

(ii)

What is myiasis ? lee the name of one
myiasis-causing fly.

SRR Rre bt AR R R e 1

(i)

Mention two character1st1cs of order -

: Hemlptera

- ) @az»aaaﬂ%mm@mw
- (i)

What i is a vector ? Name one vector.’

@Tﬂwﬁwaﬁa @T‘»\WWF"«‘HI
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3. Ariswer the following questions : (any three)
- 5x3=15
: wﬁm‘ W@@am (Rt fefsy).

| (i) Describe the morphologmal structure of
- the insect eye.

AT 5 o191 2191 R 31 31|

.(ii) Differentiate betweern carrier and vector.
' Describe the host-vector relationship.
' 2+3=5

wm@twmmwmml
| (S (RIRITR TS T~4F 0] 1 | :

(it Name two Dipteran vectors. Give an
" account of the symptoms and control

o measures of viral encephalit.is
1+2+2=5

BT g T B (SR
, WWWWWW
ﬁwtﬁml

'(i_v) Describe the role of house ﬂy as a
" mechanical vector. How can infections
caused by houseflies as vectors be
prevented ? . 342s5
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e @ioREel TR g 3¢ 4
@SRIRTRC MR AL R IRFT - (FEAE
| eferRig i #AifR e '
" (v) Describe Vagabond's disease mentioning’
‘the symptoms and control measures.

ODIEI] @NWW?@WWW
IR Reaa et

4., Desci'ibe five types of én'tennae found in
' insects with examples. , 2><5—10

- sfeRore Bofer Waaﬁwﬁﬁmmaﬁ .
| ,
' - Or
-What is the causative organism ofDe_ﬁgﬁe ?
- Describe the life cycle of the vector organism

of dengue with the d1sease symptoms..
- 1+9=10 -

) 'c@\@wﬁméﬂmwﬁv mﬂﬁ«m .
| e TR @W@am@wma«ﬁt
] '

5. Name any one desease c'aused by sand ﬂy .-
‘Mention the life cycle, symptoms and control
measures. ' o 1+542+2=10"
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i iR TS R RGP @b T AT B
aﬂ%ﬂﬁ?ﬁﬁw mﬂamwﬁmqwﬁﬂm
ﬁam

Or ’

- Discuss the general features of insects. Give
an account of the morphology of the insect-
head. T ‘ ‘ B 545=10

’vf@mmwhﬁmﬁmwmwmnwmw
W«ﬂﬁﬁ«qﬁm & L

6. Mcntlon the name of the causative orgénism
vectors, symptoms and cdntrol measures of '
any two of the following diseases :

| (1+1+2+1)x2=10

e i ﬁmﬁ«mw@«m @RI

I, a7 WWWWWW 3
() Chlkungunya
fﬁmﬁm
| i) .Phlebotomous fever
. gRETRE
- (iii) »Relépsir;g' févér
R 9=
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Or

What insect order does flea belong to ?
Discuss the characters of the followmg insect
orders citing examples for each.: :
1+3+3+3=1O

S92 fs il <ok SR o oot BIEETBH
WWWWWWW|

(i) S1phunculata
ot

- (i) 'Hemiptéra
=R

(i) Diptera
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